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Eormulate the algebraie restaterment ef the tility maximizing rulie.

MU oflast A = MUcflastB = MU aflast © = ...
Price of A Price of B Price of C :
B. Assume @ gonsumer uses all of his ineome te buy only two lypes of goeds
that have utilities as follows:
‘@ TJa Mua MUsPa "MUalEe Tup MUb MUB/PD
1 o) 8o 10 7.8 60 &0 13
2 113" 23| 26 2 80 30 7.5
3 133 20} 22 1.7 g8 &g a9
4 148 15 1.4 13 1068 = 2
§ 158 10) 14 0.9 1118 5 1,25
(1) Eind the marginat utilities for both preducts
(2} Priceof A = 39 _and Price of B = $4. Find the marginall utiliies per

datlar for both produdts : _
(a) I the weeklyincame ef the onsumer s §39, how many Lnis of
gach he would buy?

3A and 3B

(4) Naw assumene price of Arisesto 311.9. Find the news MUFS for A.
(8} Hew many units af each shall be puy after the risg in the price of A7

2A and 4B
(6)  Defive from the above pars, a demand achedule for A.
P Q4
g 3
ol 2

{7) In the previous anaiysis, which reasoning ef the 2w of demang wes
abvious?

THE SUBSTITUTION EFFECT

2 points
2 Below is an incomplete utifity schedule of a typical consumef
Qa Tusg Qb TUb
1 10 1 25
2 260 2 83
3 110 3 134
a. Fill in the empty space above, on condition that diminishing marginal utitity

appeara enly aftef Qa = 2 units,



e

A pieduct market is a market in whieh:

a. housenolds sell the services ef the facters ef preduction they central

b firms sell their final output of goods and services _

e firma and gavernment buy theif needed goads and services , _

d. the gavernment, househelds, and firme decide what will be preduced im ihe coming
year

12% TRUE AND FALSE

y o Economics is a physical science.

T F Human material wants are unlimited.

T F People survive witheut luxuries.

T F People survive without neeessities.

% F Factars of preductien are unlimited.

T F Hausehelders are buyers in the resource market.

Draw a preduction pessibilities eurve.

a. Label the axes and name them.
b Plot three points en your diagram, ene representing a ease of unemployment, ene
an eptimal eutput, and ane which is impessible. (be specifig)
A
a. unemployment
b. optimal output
c. impossible




g ofB. lfhe decides to

p The consumar was puying 3 units of A and 2 untt
sacrifice 2 units of A and buy one mere unit of B, by hew much will fhis tot@l
wtility rise?

Total utility chall fall by (110 - 10) - (134 - 93) =59

10 points.
iven the fellowing achedules,

3. G
Egi.ca _.f! P
20 1 5 29
8 4 59
a. Derive the demand function
a0 = Po - 30(5)
po = 20 + 150 = 170
D: P = 170 - 30 Q
B. Draw the demand euve: (ee specifie)
P1
179
170 S

14

plate the abave tabie b showing 3

0 : Q
Neow assume demand rises By $9. Com

the value of P =
d. Draw the shifted demand cufve en the diagram of part (B} 3
e Derive the new demand funetien- :
o p = 179 - 30Q

f. Draw the Supply GuUNVe. (pe speeific)

20 = Po + 30/5(1)

F’D=20-6=“14



10%

40% MULTIPLE CHOICE

Find TEC, | 'Y

Following the abeve informatien, position on a graph below, tha gdemang,
ATC, AVC, and MC eurves for the firm, and show en the axes tihe answers
to paris “b' ¢, and "d".

A price igv'wer than equilibrium price will result in:

Poo oY

a shift in the demand curve.

a shertage of quantity demanded,
a surplus of quantity supplied,

a sheriage of quantity supplied.
nene of the above.



Rank the demand eurves in the diagram below, in arder of greatest to least elasticity at the
gommen intersectien point:

a AB.C. B 5
b B.CA A

& B,A.C. B

d. CAB

g. nene ef the above.

T L T ooy P S . Q
Accarding to utility theery, fer a consumer whe 1s maximizing tetal satisfaetion, MU of proguet
A divided by the MU of product B:

a. will equal the ratio of the price of A to the price of B. HJO A
b will equal the ratio of total wtility of A to that of & —a
e will not necessarily be related to prices. fu

d will equal the ratio of the price of B ta the price of A,

e nene of the abave.

When t@tgi physical produci is increasing, marginal physieal product is

a. positive /\

b. zero :

€. negative

d. increasing

€. deereasing

IA the long run, if a firm eannet caver its eosts, then the profit-maximizing firm wall

a continue 1o preduce as long as tetal revenue exceeds fixed costs. PSA
b cantinue to produce as long as total revenue execeds variable costs. >
e continue to preduce ta maximize its opportunity costs.

d seek more rewarding opportunities in some other industry.

g Increase output and lewer price.

If 2 profit-maximizing, perfectly cempetitive firm is preducing at a loss in the sheart run, then
a. MR = AVC
b. P =AVE + AFC
_ P < ATC, but P > AVC
: average revenue falla below price.
. P < MR
arriers to entry to @ monopely might include
the sele ownership of a strategic resource.
patents.
an exelusive governmental franchise,
huge financial capital required to get started.
all of the above.
mancpely
18 a sole seller of a good or service.
Wwill charge a higher price than a competitive seller.
Fesults in less of the product being supplied in the market.
ean reap higher prefits than competitive firms.
all of the abova. ﬁ F&
marginal produet is ingreasing, then
marginal cost must be rising.
marginal cost must be falling
e marginal revenue must be falling.
d marginal revenue must be Fising.
e marginal revenue equals marginal cost,
The average fixed cost curve
a slopes upward.
b. slopes downward.

d
I

a
b

c
d
e
B
=
b
c
d
=
A
3
b
€
e

f

Q. slepes downward then upward.
d slopes upward then dewnward,
e is herizantal.



12 peints
4. Given the fellowing hypothetical data fer a firm,

M @ @ @ & & (7

@ 100 0 60

1 ?EJ 20 G0 4D 100

2 80 B8 TO 120 32 83

3 0 210 30 150 20 . 90

—

4 8 2w @Gy w0 WS A8 "
| 9 80 250 AEER - 44

6 &0 210/ 10,7 @8 W

7 30 240 W als CF 47

8 20 120 @ EC s Y O 5Q

a. Derive the demand mathamatical function.

R .=, 100 --10.4Q)
Eill in columns (3), (4), (5), and (6], in the taple abave.

b.
G Sketch on a graph the ATC, P, MR, and MG eurves.
=
- &
L
o T (2
d. \dentify and plot en the graph the profit maximizing output and prige.
e. Caleulate the elasticity of demand at the profit maximizing outpit.
f Galeulate the profita and shade the corresponding area on the graph



If fixed cests rise, then
a the marginal eost eurve shifts up.

b the marginal cost eurve shifts dawn.

€ the average variable cost curve shifts dewn,

d the average total cost curve shifts up.

€. a andd

Which of the fellewing is a price taker?

a. a meonepaly.

B an aligopely.

€. a menopelistically competitive firm.

d a perfectly competitive firm.

e all of the abave,

The alternative metheds of preducing a preduet are given below.

Uni apital Man-haurs ( gV Po

Methed 1 7 150 859
Methed 2 é 160 e
Mathed 3 5 200 2R5%

Methed 4 8 180 _
Given the above table, the factor priees per unit of capital is $50; man-heurs is $10. The
economically mest effieient methed is:

a. 1
b. 2
g 3
d 4

Given the table abave, if the eost of a unit of capltal increases tg $110, while wage rates
remain constant, the ecenamically most effieisnt method is
1
2
a
; 4
praductien funetion:
is useful for long-run, but not shert-run, deeision making.
refers to the relationship between inpUts 2ad guiguts.
measures the opportunity cost of preducing a unitef eutput.
meaaures the relative cost of alternative ways of producing a good.
total produet is at @ maximum, then:
average praduct must equal marginal product.
average product must be fising and must lie above marginal product.
marginal product must be greater than zero and must be falling.
marginal product must equal zero. |
hen average variable cest is decreasing, then: '
marginal ¢ost must be decreasing.
marginal product must be decreasing.
average product must be increasing
marginal cost must be increasing.
he marginal utility of additional units consumed of any good
increases.
decreases,
remains the same.
is always positive,
is always pegative.
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The law of diminishing marginal ufility states that

a as mere of a good of servige is consumed, its marginal utility relative to other
produets increases,

b. as more of a good or service is consumed, its marginal utility relative to ather
products decreases.

€. as more of a good or service is eansumed, its marginal utility relative te other
preducts remains the same.

d. the marginal utility of all preducts consumed must be in equilibrium.

e the marginal utility of the last unit censumed of any good is less than marginal utitity

of all ether products consumed.
Ceonsumers should allecate their inceme so that the marginal utility associated vwith the
last penny spent is equal for all good
first penny spent is equal for all gooda
last penny spent is greater for high-priced items than for lower-priced items.
first penny epent is greater for high-priced items than for lewer-priced items.
first penny spent is fess for high-priced items than for lower-priced items.
ecauae of the law ef diminishing marginal utility, prices must be
reduced to entice people to buy mere.
reduced to entice people to buy less.
increased te entice people to buy mere.
gongtantly ehanging for copsumer equilibrium te be maintained.
nene of the abave.
' the short fun, in a perfectly ecompetitive industry, whieh of the follawing will NOT occur?
P = AT for the firm.
P < AVC for the firm. - {2
P = ATC for the firm. .'
P < ATC for the firm. L,,_\
P > MR for the firm.
"he law of diminishing returns states that
more output can be produced enly with mere resourees
fewer resqurces are required to preduee lesser output
a3 sucgessive units ef a variable resource are added to a fixed resouree, additional
output of each variable rgsource added will increase
as successive units of a variable resource are added to a fixed resource, additional
output of each variable resource addad will diminish
e. as suceesaive units of a fixed resauree are added te a variable resouree, costs
begin to rise
In pure campetition the market supply eurve is derived by adding
the upward-sioping marginal cost curves above AVC of all firms
the marginal preduct eurves of all firms
the marginal benefit eurves of all firms
the total product curves of all firms
the downward-sloping marginal cest curves of all firms
If marginal preduct is increasing, then
marginal revenue must be falling
marginal revenue must be fising
marginal revenue equals marginal cost
marginal gost must be fising
marginal cost must be falling
~0F a perfeetly campetitive firm
the profit-maximizing output level is achieved where marginal revenue e;quals
marginal cost
when profits are being maximized price equals marginal east
price is determined in the market
marginal revenue equals price
all of the above
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A fixed cost

decreases with inereases in the output level

increases with decreases in the eutput level

is any cost that does not vary with output level

increases with increases in the output level

decreages with deereases in the output level

The average fixed cost eurve
is herizental
slepes dewnward then upward
slopes upward then downward
measures the vertical distance between the average total cost and average variable
cost curves at any output level
a. and b,

Vhich of the following statements is true of the eireular flow of inceme mada'l?
Househelds are the demanders (buyers) of resources.
Businesses (predueers) are the suppliers (sellers) of resources.
Households supply and businesses demand in the product market.
Haousehelds demand and businesses supply in the resource market.
Nane of the above statements is true.
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Costs

ATC
AYC

P
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The firm's fixed cost is area

bPadg4

aPadi

abef

Qafgs’

nene of the above

The firm's total cost is area
bPide

OPadg4

abef

Obeg4

none of the abeve

he firm's tatal revenue is area

APadf

OPadag4

bPade

Qbeq4

nane of the abave
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The firm's variable cost ia area

a. bPade

b. APadf

e abef

d. Oafqa

e nene of the abave

f two variables are indepandent of each ether, this will graph as a

a. upward sleping line.

B, downward sloping line.

G. cirele,

d. horizontal or vertical line.

e it will be impossible to graph.

Use the fellowmg graph to answer the next four questians.
Capital
Produets

0
Cansumer Products
Unemployment i represented by paint

a A
b. B.
G C.
d. D
g E
Which of the follewing peints will give us the greatest rate of economic growth?
a A
b. 8.
& 23
d. D.
€. E
Point D represents
a. an inefficient use of resources.
b, a combination of resources that cannot be produced.
c. a combination of consumer and capital products that may be obtainable in the future
but is impossible to produce now.
d. economie growth,
e. full empleyment.
Full employment is shown with point
A
B.
C.

all of the above

none ef tha abeve.

he opportunity eost of preducing an additiopal unit of geod A can be defined as:
the profit o be made from producing good A

the retail price of good A

the cheapest method of producing good A

what must be sacrificed of other goods to get an additiona! unit of good A
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